10259 , SOLUTION , DSSSB (Nursery teacher's)

Ques 1. ANS (A) Solution:

IdTG Yeob bl a¥ Ud Fal B (Seeeh) | e D far 7
31 IAE TH TSR B UL I 5| T8 Yoob YR | Fafor &t
S aTelt I a3 TR TR ST §, S TR WU b forg gt
21 iy IaTe U SiffTH, 1985 | o ugell S
IR IR S B IdTE Yooh A axgett & w0 & Ay
fFarmn g

Excise duty has been subsumed into the Goods and Services
Tax (GST). Excise is a type of indirect tax. This duty is imposed
on those goods manufactured in India which are meant for
domestic consumption. Excisable goods are specified in the
First Schedule and Second Schedule appended to the Central
Excise Tariff Act, 1985.

Ques 2. ANS (C) Solution:

T URTSRISHT dl BT TR Y=ferd A9 81 Fa & Urell &l
Ta U 3 fafer gR1 genfaat & aefiepd fasan mam o, [ &t
TohT- o U H IuGNT T ST arel ol & forg o
URITSTRI3MHT 3R BT Fdl & FU & IuaNT faw oI arelt &
fere uw. Sftten wer|

Musa paradisiaca is the common name of banana. Banana
plants were originally classified into species by Linnaeus,
calling them Musa paradisiaca for those used as cooking
bananas and M. sapientum for those used as dessert
bananas.

Ques 3. ANS (A) Solution:

faeTfe — Ara IR | DIRMB1H DY U 1 7@ H Hag
B & | THPT AT T TeblTdich 317 & | T8 GogRal!
1 faerfiq ot we1 orar 81 7% 83l &) Aeled 9 die 9 g1g
I Seal WA H Hag HRAl ¢ | 39S a1 9 il B AT agdl
1 3T FH I T df T A B 1A B 1 TS T 9 -
Vitamin C helps keep cells together in the human body. Its
chemical name is ascorbic acid. It is also called vitamin of
beauty. It strengthens bones and helps in quick healing of
injuries and wounds. Its consumption improves eyesight. Its
deficiency causes a disease called scurvy. Its main sources are
— sour juicy fruits, amla, orange, lemon, grapes, tomato etc.
Ques 4. ANS (A) Solution:

TS G, IRTAET &R B G TbIRI § e arelt aw SR
YT AT Afeal HaiT & Have el & e ¥ a7t 5
fRHTae U= H 38 I U & AT § ST 91l g | <H1S Tl
Ry 7 pt T IS TerEE I g1 I A H A aRaeg
& SiereR uRaISH, Tare URaIeHI, gaewd TRareHT|
Chenab River is formed by the confluence of 'Chandra’ and
'‘Bhaga’ rivers originating from both sides of Baralacha Pass
at Tandi near Keylong. In Himachal Pradesh it is known as
Chandrabhaga. Chenab River is the largest tributary of Indus
River. There are following projects in Chenab River — Baglihar
Project, Salal Project, Dulhasti Project.

Ques 5. ANS (A) Solution:

YR Hfdeu™ & HrT-Iv # aftfa g & Hifd Fewe daal &
FU H 449 iy AMed 1978 & id 9 gRI Akl &
T 3, UiImT, GRawmsit 3R SawRl § SR & HH A

@1 e BT TS B 1 ST & A RIS dcdll B ARRATS &
fayr & ferar man g1

Under the 44th Constitutional Amendment 1978, as the
Directive Principles of State Policy mentioned in Part IV of
the Indian Constitution, the State is expected to reduce
inequality in income, status, facilities and opportunities
among individuals. The Directive Principles of State Policy are
taken from the Constitution of Ireland.

Ques 6. ANS (C) Solution:

TR &1 Ugdl 517 T, Afgarstl &1 GgbRt dus! fid
HERTY & WU R & Rt fopan 11 5| a5 TRk &t uget
foret g1, St IR ol R 18 St | 39 GRS &1 St anTd
TTHT 100 PRIS B

Asia's first Jai Bhavani, women's cooperative textile mill has
been established in Parbhani district of Maharashtra. This will
be the first mill in Asia, which will work on solar energy. The
total cost of this project is approximately 100 crore.

Ques 7. ANS (C) Solution:

TS ST I ST SR & Hew § fud 7 TRiad
37T HIAR ST ST SGRIETG YR SUgTerd PIadbTal
ST urgTad fedt

Netaji Birthplace Museum is located in Cuttack, Odisha.
Museum State Salar Jung Museum Hyderabad Indian
Museum Kolkata National Museum Delhi

Ques 8. ANS (A) Solution:

TP e i 2005 H TR 31 75 ff, a1 I5=9 Sdraswhar §
g, ToreT § YR, forai o o S &1 o/ didd gHiad
HRAT 3R Tl FTR H gfg FHrem i

The National Jute Policy was formulated in 2005 with the

objective of increasing productivity, improving quality,
ensuring good prices for jute to farmers and increasing per
hectare yield.

Ques 9. ANS (A) Solution:

R TEgRT Ueee Al (SGPC) & g Fo™ & ®u H
=01 UM ®RA & fog 1925 H g egRT sifdfam uiia
foram Tram 1| RRIAM TEgRT Uetd SOt aeR § aRaR
e BT TATa BHrell § T FH IIoat T, giamon, fgaraa
TR qUT H-ERMRAT TR IUSHTG & THgRY 3R Ryerdt & gor
T YeieT el g

The Sikh Gurdwara Act was passed in 1925 to provide control
to the Shiromani Gurdwara Parbandhak Committee (SGPC) as
the main body. The Shiromani Gurdwara Parbandhak
Committee operates the Darbar Sahib in Amritsar and
manages the Gurdwaras and worship of Sikhs in the three
states of Punjab, Haryana, Himachal Pradesh and the Union
Territory of Chandigarh.

Ques 10. ANS (C) Solution:

13 31U, 1919 S. P! ARG & & SPA™R F Siferdraren avT &
TATHTS BT UT| AR & SAferarare aFT & USTg & &
BT AT ST. FIUTe Td APeH e @) IRuaRt & faiy
T R ThiAd U A1 39 gl His IR S Rd 3R, SR A et
T BT TG ¢ 311 39 FADIS H WPRI RUKE & SfgaR
379 Sgfad AR T 3R 200 AT 919 gU




On April 13, 1919, on the day of Vaisakhi, a massacre took
place in Jallianwala Bagh, Amritsar. People had gathered in
Amritsar's Jallianwala Bagh to protest against the arrest of
two popular leaders of Punjab, Dr. Satyapal and Saifuddin
Kitchlu. General R. attacked this unarmed crowd. Dyer
ordered to open fire. According to the government report,
379 people were killed and 200 people were injured in this
massacre.

Ques 11. ANS (A) Solution:

TCd BT STH TP G U1 Tg Rhax BT JHBIA UT|
e B Tee W T A 3 39 gg § wford faam siR
TATY R U T oTa< WY 927 (322 8 Y- 184 3 Q) I RITAT
DI | T HI Y PI ASATCE] WR 322 3 gd H doT | T
W 305 S gd A IS Mdvex & wRIford fowam g
HId S 4 T Sfgamdt UT| g A% - 544 5 Y - 4125
R = - 412 ¥ Y9 - 344§ 4, TG ¥ - 3445 Y- 322%. G,
ORider - 3223 Y, - 1843. 7,

Ques 12. ANS (C) Solution:

IS HHATT 1786 T 1793 § A Ta=R SRS 4T 3 & THT
B gl Siive R & (1790 - 923.) Y ool 3R SIS &

T goMT| 39 g 1 9N 1792 S § ff Sugm o1 9 &
YT g3 YR § A1 JaT § I eid &1 RSN Al
FHHATT gRT &1 T3 | B 3 37 Jaref & 0=ReR
Jarefi # uRafdd o fafewr wmmsa o1 Hifadl & sriffad &
B IUH] TN | HHATT BT HRA B AFIRSG JaT BT 5
T 7T g

Ques 13. ANS (A) Solution:

3T & U I | ASal & gad 9 ¥ad Ue IR ToRdl g | 7Sl
Ia § (@quity Ta gg) urft ST arelt stfad ardt o g 1 ST
IRR YRT IR T ST ST Uedh! & U B Il g1 ST
gy fgaw giar § auT Shad S[g Yad Bt Uv aRal g |
HBerdl § 49 FlH gRI BT 2

Ques 14. ANS (C) Solution:

EH-T-SAEY AHS YT B BT I FGRNE 3HaR GRT
1582 3 W Bt 718 | 3 ASle-T-3amet & A F o} S ST
7| ST SfaTd har A w4l & go Rl &1 afdferd
TR T YA I BT T | EH-u-garmel arda H gt
TR TR SURT TP (R i ff, 39 74 Wver™ &1 gu=
RIfRT ga Bord UT| fergait # Had dkad A 3 WiHR fbar
i

Ques 15. ANS (C) Solution:

faaTfed HeRTY @t Al S1avT (TS -3 Td) & HeH  forddt
TP YhaR &1 Siifad! GoT Rt ¢ | forad gdd &7 T fadR
8, Td 34t S Al b &l A aTelt A I g

Ques 16. ANS (A) Solution:

YRTT Tfaem &1 digardl (74a1 G=ned Hfafad 1992,
TRUIIHT § FrafAd 1 3P gRT Sfae™ H 'HIT 9" ST
T YT 3G 243P ¥ 24326 T U4 1241 3YaH &1 Urae™
forar o 81 R urfereran @ 124 S o aftfa gt 18
fawal R fofy 39 &t wifda e &t Wit B1 9 eiftfam 1 53
1993 I FHTAT §3MT1 SATUTd IUS=I DT UG A e &
3a-352 (IPT TUTd), 3, 356 (IFUICT W) T
3TRe-360 ( i amura) & fran T 81« YRetg FRTRasar
(TT-2) H 3G - 5-11 d% | afvfd g a1 Aifeies s Bt
HITT 4 (@) T 3RS 51 () P dgd @ T

Ques 17. ANS (A) Solution:

TR 3R WETH THHER Gihe UIg § TUT TR dd TR
J 1 I RA BN & [ 3¢ 1% Y BT o Toha g1 TRy
3R AfETm SRft T Urqt sait sifvfarehiar g 2, o o o
T W HTeRfToH F Sfiifehar v p SHiTss F1 Al 8|
SRS P I T PR T8 UTgY T Alel! &, TR 5%
RI&T T & forg gt &1 dd @Rd) & gale a1 ST g |
Ques 18. ANS (D) Solution:
figd BRR g Tlied dlede 3t ThTe (PETSSar 3 REBR
faorar sifit urddt Rvay & Ay e sRoreTtrett st
P HER # T Wdlfes gredt sReTSTUeed W &1
AERPYS GHARIG SHaMeTd foba
Ques 19. ANS (A) Solution:
BRam 100% faggdied Yaa Aead darar HRd BT Uge g
& T 8 A 2023 § YR Yad = Rkamn Iwg & Yad
Jeadh B I avE U faggdiarur o faan, fora ag =1 &1
TEaT ST & 7T fSRH 310 Yad Aedd Bi 100% faggidmRor
Bt fpa 1
Ques 20. ANS (C) Solution:
Ques 21. ANS (A) Solution:
Amns. (a) : 9 S=hT,

M I N D

1 1 [+1 |1

SEE.
FHd: NEFT =hl 248 = OFGU
Ques 22. ANS (C) Solution:
Ans. (¢) : 9T g e &

17 : 119 :: [26] : 182 ::

L
#1q: fom == W 26" 30T
Ques 23. ANS (B) Solution:
Ans. (b) : & 713 gl e SR 3

R -2, u 2, x 2, a B, p 2, g 4
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A 5, F 5, g 5, p _F, y _F, z _+5,

s L r =L o =L » =L o =L wN =L
1: h TI= 9 'JEM SR
Ques 24. ANS (D) Solution:
& TS e Y TR 8- CMPKCMPKCMPKCMPK
3{ct: et RITF TR 'MKCPKP' BITT|
The given series is as follows — CMPKCMPKCMPKCMPK,
hence the blank place will be '"MKCPKP".

Ques 25. ANS (C) Solution:

Q<.
e u_a'a':r .5_tﬁ
Tﬁm 1 I
.". ."
‘__/

AT & EEi |
Fd: Igehl HIeE o O 1 91T g

Ques 26. ANS (B) Solution:

Ans. (b) : T FeRR, HIT,
10 5 20 20 10 40
N~ N 7
x2 x4 2 x4
341 SehI,
40 20 |80
—
x2 x4

d: f&h 9T W 80" 3T
Ques 27. ANS (B) Solution:




Ans. (b) 194 FNE fiﬂ:la?t?—
I*q
fagarst

@)

fasrl — (1)- (v)

(In-(v)
#a: fed T e § 3 feed a3
Ques 28. ANS (B) Solution:
33 T vy fort & TS Y HISA & HH 3R TS §U BT
Pl R fadmed 3Bl (b) Sram fezarg
The sequence of folding the paper of the given question
picture and cutting the folded paper will look like option
figure (b).
Ques 29. ANS (D) Solution:
33 T Teg B 51 F SioN Wead IR H FaRYd B R~ (4)
Rare, (1) Real, (2) Rim, (3) Rise, (5) Rose
By arranging the given words sequentially in the English
dictionary - (4) Rare, (1) Real, (2) Rim, (3) Rise, (5) Rose
Ques 30. ANS (A) Solution:
fau T ofRg 15 Afad GadmTerd Sl 7 df FHR-grar 3R 4,
HAEECI e
In the given chart, person '15" is a library worker, neither a tax
payer nor a painter.
Ques 31. ANS (D) Solution:
AU T Uy 3B & FI & THS Bl HsA W 3R S §U
BTGl B Blc- & I BTl B AP B Bl R [dded
3P (d) P aXe feard <

On folding a piece of paper in the given question shape and

opening the paper shape after cutting the folded paper, it
will appear like option figure (d).
Ques 32. ANS (B) Solution:

Ans. (b) 59 SFR, 34

85 6 = 97 : |f]
(B-5)x2 (9-T)x2
. ?= /]

Ques 33. ANS (C) Solution:

dddh
g m—
] Tt
i
/ 15 |8\'
)
\ j
T 1/3 9
o
16
Telldh

UM 3 e § Wy § % Ffia (@riRa) gaw! & e
18" g Sifes A e 3|

Ques 34. ANS (D) Solution:

Ans, (d) 727 T AR F FH T dBH W
I G '

H ¥
Voeob o
I O |
..R T..U.V. S
30: HR 3 [U U35 & 304-98 93 &l
Ques 35. ANS (C) Solution:
Ans. (c) 8 T GO 9,
47+ 12 =288 x 18
W TR F1 e UREdd aH -
47 =« 12 -288 + 18

47 x 12 -16

564 -16

= 548
Ques 36. ANS (B) Solution:

Ans. (b) 59 537, 3R,

125 53 121 112
(5) = 125 (112 = 121
125 = 125 121 =121
34 R,

128 2 73

(77 =128

=@

AER & g F W/

=2
Ques 37. ANS (B) Solution:

Ans. (b) 59 v,

K I NG DO M

lfl l+2 l+z 1+| +2 1+2 +

L K P H F Q N

34 R,

R 1 V 1 A L

T
l+l l+2 le l+l l+2 l+2 l+l

|UT K W K C MI

Ques 38. ANS (A) Solution:
38 T SiIoft e IRT B TARYT FRA W (4) Tamarind (1)
Target (2) Tarnish (3) Tarot (5) Tenacity

By arranging the given English dictionary (4) Tamarind (1)
Target (2) Tarnish (3) Tarot (5) Tenacity

Ques 39. ANS (B) Solution:

Ans.(b)ﬁlﬂﬂﬂﬂ(. X
Tx5-11=24 9x8-15=57
35-11=24 72 -15=57
24=24 57=57

34l YR
12x3-3=33 13x7=2=21
36 -3=33 91-7=21
33=33 91-21 ="

L 2=70

3 FeAtaR (2) % WIH W/ 70 &AM
Ques 40. ANS (B) Solution:




23 M O 1 Wl edur ufdfere SR sipfd fawed (b) &

fafga gl

The correct mirror image of the given combination lies in

answer figure option (b).
Ques 41. ANS (B) Solution:

Ao ==afh = 200 — 111
0 = 89 %100 = [44.5%
200

Ques 42. ANS (A) Solution:

TF T F A T =
: 1
UF O H R g = .

Fﬂ'ﬁzl—

111
4

20
1

AT A = 20><100

5

tn | —

5

=—x100=5x5=25%
20

Ques 43. ANS (C) Solution:
x = +20%, y = —5%

Ardfersh @9 % =x + y + il
100
20x-5
100
=20-5-1=14%
Ques 44. ANS (B) Solution:
() f=A(s) == (B)
11 : 8
(i) [ (B)  HWZ (C)

=20-5+

o

Ques 45. ANS (A) Solution:

89

(a) T =Tofl « T

P @ Q7 il o AT = 1400 : 1800=7:9
T Fed 1 x 81

A & S fRE 39 Ioft & FER § afe

Bk
7x 9

L PAQEANH AW = —
i 3

o 7

X Xy

2 2

2x=47 %2

x=47

. P QFH Fad @ = (Tx +9x) = 16x

=16x47="752
Ques 46. ANS (C) Solution:

AT TF 57 FFE = -

B & e f& & 1

10
AT B & FE = x &

S AR R T B = (x4) fam

+_
5 10
2(x-4)+x
10
2x-8+x=10
3x-8=10
3x=18
x=6
A Z B 7 AWM = (x—4)= 2 @
Ques 47. ANS (A) Solution:

1 =
P, P,
30 60
40
20 10

M FAE =20:10 =2:1
Ques 48. ANS (B) Solution:




Y A I 1 5V | 25 H /Y T 9T

:i'q'p'[
10
WBWIW#%WWWW:%W
WAﬁuTBmlﬂéﬁé%ﬁmmﬂaTﬂW:%+%
51
30 6

3 U Tl 9 H o THT = 6 5
Ques 49. ANS (B) Solution:

HeH = 1600
9 = 10 99
W =725%

_ AT XTI 1600x7.25x10

100 100

=16 % 10 x 7.25= "1160
Ques 50. ANS (D) Solution:
AT SR = P
=2
& =20% dfieh

24=px %0
575

p_ 324x25
36
P =225

Ques 51. ANS (B) Solution:

wre A m T W o g AR 3x ™
11x a7 &)

|
11x+3 3

= 9x+9 =11x+3

=2x=6

=x=3
57 EiftenT 1 g =33

=933

Ques 52. ANS (A) Solution:

TS (a+b+c+d) MFTIT=39x4

=156
T (a+b) FFT AN =205 x2=590
(c+d)TFATT=[(a+b+c+d)-(a+b)]
=[156-59]=97

: ; 7
- T8 (c+ d) 1 FHiEn =9T=48.5

Ques 53. ANS (A) Solution:

v, _ {h

v, Y&

=_ o =G0 kmli, &= 12, & =3}
v, 12

60 i

A\ 4

v;=120kmh
Ques 54. ANS (D) Solution:
FHi=amx TG

=240 x5 =1200 5.

Ques 55. ANS (B) Solution:
ey = few # arfw ot wrer =45—0=8km-}u
o % fagda R # e ot 9=

24
=3 =12 km/hr
-, fer v # o o 9w

:
.

Ques 56. ANS (C) Solution:
FEaf T i @=53m

5T ¥ETE ~ 5 e 7 12 em B

v (13)F = (12} + 5)°

169 =169

7. 98 T HHER B A

et it O wew gt w fremw 3 29 B PQR W

4
A
13cm
Sem | Q
B X
M C
|2¢m
l;xﬁxll
APQR W& = =——

4
=—=75cm’
4

Ques 57. ANS (A) Solution:
SH UE (a) = 3, AEIE (1) :%:2

n=>
4- tn = are-l
ts=3 (2)-1=3 x 24
C t5=3x16
;. il § 59 U2 48 3|
Ques 58. ANS (B) Solution:

faenfifal ot Yo o Ryda e uen 838 = 50 - (10 + 5 +

12+10) =13




Number of students who appeared in only one examination
=50-(10+5+12+10) =13
Ques 59. ANS (B) Solution:
cot!B+cot2B=36
cot?B (1 +cot2B)=36
[cosec’® -cot’® =1

I 3 ]
{cosec’@ =1+cot®

lcoseczﬁ -1= cotzﬁ

cot’6. cosec’® =36 (i)

(cosec20—1).cosec?6=36

cosecd —coseciB=36
Ques 60. ANS (B) Solution:

:%[XI(Y:_)E)H‘:(Y;_Y1)+x3()’1 _Y:)J

=%[1(—3—1)+(—4)(1—3)+4(2_(‘3))]

1
=—[—4+4+20
[-4+4+20]

20

=10 a7 FFE

Ques 61. ANS (B) Solution:

& T ey & Rad ®F (1) % fo waffie Suged wsg
TR 47 RN 31ck: IUf 919 § - URd B dfdeh H1at 9 o
31T e T B TR & HIHT STl 2

Ques 62. ANS (D) Solution:

TR & Rad ®IF (2) & oY Taifie Suged sq aR ghT|
3{c:YU a1ed § - o1 98 gaT gicil § ol fhdll I aR & grdf &
Al

Ques 63. ANS (A) Solution:

&8 T fa ey H gt ad-t arell Yeg RIS §1 317 fawey
LS

Ques 64. ANS (C) Solution:

TR U VoG T GG B D1 & I Tl - YARIGqa™
S e B T § - o / Fdordt S Wed 7 Bt & ST
B - 3iquftf faw &1 fadiy 1 T et - fadw

Ques 65. ANS (D) Solution:

T 3{7g BT quigar ee 81 37 Tafaare Weg — =, e,
=7, =P, 794, fadlia | 3rgd - sift, gor, 9y, 919, Uiy,
STiaAe® | BT — R, M, TH, Y, 3, LA e
Ques 66. ANS (D) Solution:

3 T e we uRknfey T Ffe |1 ot guf Y are g -
39 ST & YIS U uRknfat Te1 Rl 8

Ques 67. ANS (A) Solution:

e =M &1 gfd & e Ted I Xsg SR BRI 31 Ioi
G IR BT - 3! GRI T BRUr F 3feTde gt S T |
Ques 68. ANS (D) Solution:

o0 T a1 Yaiferd WE &I UicRTiud dRA o ol Ja
Iugerd fdehed & SHI&fdl & ghm|

Ques 69. ANS (A) Solution:

3 T o =M @1 gfd & oY e Iuged ee =y R
31c:qul AT BT - Wifecd SR TS &7 gy Tafe |

Ques 70. ANS (C) Solution:

&3 M o =M &Y gfd B & forg ged Iuged fawed ‘i
BRI 31ct: gof arey 81 - AT <yal e & & T H Ugd! g
Ques 71. ANS (D) Solution: JTERIGUS — Udh [eg (el & UTeS-
Uied e arell — gt faudia fe=m & e arerr - ufeRet St
Yfawr # ST a1er g - ST

Ques 72. ANS (B) Solution: TTeg — fadid el - FRed Fupd
- % HUS - Fepue ¢ - yx

Ques 73. ANS (C) Solution: &3 T dTe 0 W& HHd Bl
& 98 UgdaH 1 S’ A Rad R W a1fes’ e IUGad gRT|
31ct: qUf g1 BT I WS HERd bRl & dlfdh a8 Ugaid &
S|

Ques 74. ANS (C) Solution: XTsg — T 2reg fgaTerd -
TR, AR, tdarre, RAfs | S1d - 99R, va, |, ST,
Yo 1 RR - R, 39, 26, TIIAgH, =M | JRIH - Frit, G,
AT, 78, T1RH, oz, THifgd|

Ques 75. ANS (C) Solution: &8 T fdewed! & & Terl Yg
It ITel Weg 8, 3 Tt ey oy B

Ques 76. ANS (B) Solution: A g H@—%% 3Tt
gad # Wfeferd et 81 I Rad R W Ve’ Weg Iugad
BN 1 31a: Yot a1y T-H9 W< § fb siuest grad o wffera
6T 81 9 |

Ques 77. ANS (C) Solution: &8 T fasedl & & -7 T
TeTaR &1 3 g— TUTd Iad HAT| U1 ey, S = ok
BT Y T PR f ! [AA&Or 31k B et B, GETarT
HEA 3|

Ques 78. ANS (A) Solution: o ™ g ?ﬁﬁ@ﬁ%m
TS S Har S U (1) A IR B 3T UM & TR ' & /F W
T T TN Iugad g | 3fc: Y AT ST G HIS B
BEEEEXI

Ques 79. ANS (D) Solution: XTeg — fddliH &R - HUUT fa-iid -
JGd ST — ST HUU - IGR

Ques 80. ANS (A) Solution: &3 TR aTe qH 39 Hed ¥ U8
e Yhd g F YWifpd Wus A I 7 I8l 9 H@ A’ &
RF R 9 T W HT YA SUgad 8| 3d: Y 16 gITI-
T 9 U R I8 Tic Hobd B

Ques 81. ANS (A) Solution: SURIGd Passage & Y D SR
¥ ®IM (1) ® By (@ §R1) &1 TN IUgad 81111 3 fddhed
fiyer 312 a0 1 Correct — The first telescope was made in the
seventeenth century By Galileo.

Ques 82. ANS (D) Solution: JURIGd Passage Rad I (2) &
highest 1 UANT BRI I The & TG superlative Degree T
TGNT 8T 81 Correct sentence — It was filled on top of the
highest hill of venice

Ques 83. ANS (A) Solution: IWRIed a1 H Divya have &
RITF TR Divya hse &1 YA IUgad 81711 IfdbDivya (singular)
%svi%m singular verb (has) EIQ,?R‘[_@THI Correct sentence —

Divya has little chance of winning the gold medal this year.

Ques 84. ANS (A) Solution: SWRIad fddbedl H ¥ fdhed (a)
Procastination @1 gdt W%I 3d: Eﬂaﬁﬂ@aﬁ
Procrastination (ﬁ?‘i—d) ml &mﬁmﬁaﬁ-—ﬁ%%
Alliteration — 3T Superintendent ~31eflef Hallucination —
YA




Ques 85. ANS (A) Solution: IR Group of words written
low passed by low-making body & g faded statute (DT
Jugad BT Rule - 0 Summit - R FHT Ordeal -
B! ular

Ques 86. ANS (B) Solution: IURIGd ardd H believe in you &
R W believe in youselfﬁmmm R o
Refexive pronoun T HId 2 T@T 8| Correct sentence — If you
want to win the race you need to believe in yourself.

Ques 87. ANS (C) Solution: IR group of words ‘A
person who tends to be hopeful and confident about the
future or the success of something éﬂ%«m one word fa®ed (©)
optimist (HTQIW@) Eﬂ"’l’l 3 faweal & 312 - Fanatic - he
Pessimist - fART=ATE! Opportunist - IR

Ques 88. ANS (A) Solution: IURIG dTRI & HTd & STAR
e M A edliels (RaiRid) o1 T Suged g1eT 3
faeey et 812f d B Excluded - IR @M T Evacuated -
@reft Escaped — HIT ST

Ques 89. ANS (A) Solution: IURIaT group of words 'study of
insects' & AT one word fd@eq Entomology (@ic fagm)
Iugad 81T 3= faswed! & 31 Ornithology - el fagm
Geology - wﬁw Terminology - Tecradt

Ques 90. ANS (C) Solution: U ¥ &8 T Sentence T WY %
f# sentence 'Indirect narration' § § indirect & asked & Ty
conjunction 'If or whether' &T TN BIdT 81 Correct sentence -
He asked me whether | knew you.

Ques 91. ANS (D) Solution: IR IR P IGifbd HRT
General speaking & Y WR Generally speaking T AT BT
Fiifes Speaking (verb) Gal Generally @I verb qualifyX gl =
Correct sentence - Generally speaking, the great discoverers
were people with great courage.

Ques 92. ANS (C) Solution: Investigate - (@Frq%r CXI)]
Synonym - Examine 3 fawmed & orf Supervise - IRUREI]
Relate - Haifd Calculate - 0T

Ques 93. ANS (D) Solution: JURIS AT all the works &
R W all the work WEI'Eh"TEﬁTIT FIfFH work Th
uncountable Noun %I 3d: DT pIuraITﬁW%l Correct
sentence - The manger told the staff to complete all the work
before going home.

Ques 94. ANS (C) Solution: Obvious - ¥J¥ Synonym - Clear
31 famedt & 3o Dull - X Thick - 'J:hETVague - Uy
Ques 95. ANS (C) Solution: JURIG dTeR & Yifebe HIT is it
& YT WR can he BT TIRT I Rl can't BT question Tag
'can'8ITT Note - Positive sentence &1 question Tag Negative
YT Negative sentence dT question Tag positive BT gl
Correct sentence - Your brother can't drive, can he?

Ques 96. ANS (D) Solution:

No improvement required.

Ques 97. ANS (B) Solution: JURI faebed! H & fashed (b)
mechanicel @1 aa-t 3R[x g o R gt mechanical
@) 3 famedt Bt ad=it Y 81 Medallion - WA U
Mediate - &R Meddle - T@d &l

Ques 98. ANS (A) Solution: IURIET idiom 'Hang up one's
boots (Q:qua:ﬂ) %ﬁﬂlﬁw (c) Retire from a sport
SUYdd TRSAT FRal 8 | 3 fadhed g 2 g

Ques 99. ANS (A) Solution: JIWIEd idiom 'out of the blue’

(QRQTFR_EI@I &rqmﬁﬂ) ?Wﬁw (a) completely

unexpectedly JUgad SRS BT & | 3 fasweq fira orf
gl

Ques 100. ANS (D) Solution: Demolish - (&%) Antonym -
construct - (ﬁ'ﬂfUT) 3 fadedt & 3ref- Destroy - -T¥ -l
Divide - faHTS Diminish - T

Ques 101. ANS (D) Solution:

Ques 102. ANS (B) Solution:

Ques 103. ANS (C) Solution:

Ques 104. ANS (A) Solution:

Ques 105. ANS (A) Solution:

Ques 106. ANS (D) Solution:

Ques 107. ANS (D) Solution:

Ques 108. ANS (A) Solution:

Ques 109. ANS (D) Solution:

Ques 110. ANS (C) Solution:

Ques 111. ANS (C) Solution:

Ques 112. ANS (D) Solution:

Ques 113. ANS (D) Solution:

Ques 114. ANS (B) Solution:

Ques 115. ANS (D) Solution:

Ques 116. ANS (C) Solution:

Ques 117. ANS (A) Solution:

Ques 118. ANS (D) Solution:

Ques 119. ANS (C) Solution:

Ques 120. ANS (A) Solution:

Ques 121. ANS (D) Solution:

SHTTH BT 3IHT GRT IUF HGER H W ulkadd & 9 &
ARy fosam o e g

3T 3R SFHA P HRUT 5 aTcl URTTH SfU&THd R gid
& SIR SffTH & g B1d 5|

SHFRTH FRAR TS geTsll &1 ufshan & w0 § ST
Bl

Tg YR 3R SRR FaER URadHI & SerT 7 |
SIFRNTH T Hdd Ufohal § | STedaeT ¥ 8 U W1 Siia b
Fead aRfRfrl o WY &1 Hafyd H & T 3o 48R,
o, eI, 3 3 1 TR SeeH &1 T el 3
T Aea-FERE BT 81 Udd AT 3R Siiad § $@ et
B U P B 301 QT ¢ | 57 AT BT SATTH & Heqd 4
TG b T Wehell ¢ | AfG A8 UTd = T Pls &l T8 §,
SIFNTH Y IS SMIRADHAT ol GIll|

Learning can be defined as a permanent change in behaviour
produced by experience.

Changes that occur due to practice and experience are
relatively permanent and are a component of learning.
Learning is inferred as a process of continuous psychological
events.

It is different from performance and temporary behavioural
changes.

Learning is a continuous process. From childhood every
human being tries to change his/her behaviour, thinking,
attitude, interest, etc. continuously to fit himself/herself into
the ever-changing conditions of life.

Learning is goal-directed. Every human being aspires to
achieve some goals in his/her life. These goals may be
achieved through learning. If there is no goal to achieve, then
there would be no necessity for learning.




Ques 122. ANS (B) Solution:

U4 ifhardd SIaRT:

g GO b Bl gas) 3a®T B off gd U ¥ U Id-
S Sfaw1 § Fiffes adb st a I8 aR ¥ fafra et gar
21 78 3 4 Urd a9 Y 31g ap Bl B

B T fob gk af o 3fd H, = WY 1 IS w U
SaEd U foe T AMRS U § sFyal &1 gfaFa & 8
W& B S &, T T I§ GHSAT Y& B odl § [ Tl
IRAfAH & & gl &1 ufaffa e g1

Y 3Y I, =0 Uit T Ui &R €, ot o udtet
DI T DI & g | T g Ufie! & IR § G 8 gem
2, fopR ot 3w ufdadifar &1 s grar g

o & SER, ARG Bfaat a1 aegaft SR 3yal & Uit
DI TUGIT B DI &HAT BT YA & & = H ST STl
2 Sl 99 IURC § STF T AT 22-24 HEH &1 gl g

TE T UBIHd &l & S 5= bl bt a¥g a1 TeT b
TG $3A H Fe ST § S arad & Higg (@) Tat
g, forddt o avg & TTenw 9§ S HiGG §

T TR P SR T T YT Bl § GIerd gia 2,
SaH A<l B IR Bl U PR, T M &I, RGN &id 3R
B DY, U &g & ©U J AHT STl 8| Th Il OrS P1 Jart
BT Yl P o 1T 1S P HaRT bR BT e Bl 6|
The Pre-Operational Stage:

This is the second stage of cognitive development which is
basically a pre-logical stage as logic has not yet fully
developed. It extends from two to seven years of age.

We saw that towards the end of the second year, the child
becomes capable of representing experiences mentally
without interacting with them directly or physically. Also that
the child begins to understand that symbols represent
certain aspects of reality.

At this age, the child exhibits symbolic representation which
means the ability to deal with symbols. Although the child is
able to think about symbols still he lacks reversibility.
According to Piaget, the capacity to store mental images or
symbols of objects and experiences is known as
representational ability that emerges when the child is about
22-24 months old.

It is a unified capacity that enables the child to represent an
object or an event that is not present (a signified) by means
of another object that is present (a signifier).

The child during this stage engages in what is called a
symbolic play that is, the wooden box is considered as a car,
a rounding, the steering wheel and the stick, a gun. A child
pretends to ride a broomstick to represent riding a horse.
Thus, it is concluded that according to Piaget,
representational ability term is used for the capacity to store
mental images or symbols of objects and experiences.

Ques 123. ANS (C) Solution:

RIS Tebi1eh:

RS Ui Ues sferic TRiemr § Ry SRy aqait ar
fRufcal & ufer Iept smfdsierd ufdafshar & sMyR R fbeht &
HfHIT & IR H BRI Ut H P forg T fobar T g
RIS daheitcs JUHRUN BT U THE & oI T- I
HfdId 1 U SR faRiwa gl

AR BT Jellich B P i P &

HHDIPd TR0 / Y TRI&0r
IR-AHSIGH UIE0T / R oter

ofarerT fafdy

A TR0, TR-AFDIHd T, 3R IRESTT uieron
& P 3G

umaﬂ‘qm IRuF@ipa  wfdua uRasr

adtaor e
Judier hieor mg BG Tz
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Projective technique:
A Projective test is a personality test designed to yield
information about someone's personality on the basis of
their unrestricted response to ambiguous objects or
situations.

Projective techniques are a set of instruments whose main
objective is to describe and characterized personality.
There are three methods of assessing personality:
Standardized Test/ Objective test

Non-Standardized Test/ Subjective test

Projective methods

Some examples of Standardized tests, Non-standardized
test,s and projective tests:

! Non- it
Standardized - . Projective Test
Standardized .
Test of Personality
Test
Achievement Anecdotal
BG test
test records
Aptitude test |~ Autobiography Graphology
Children
Intelli t /
ntelligence test ~ Case study Apperception test
Interest test Interview Mosaic test
P I
: erson.a Score Card Clay modeling
inventories

Ques 124. ANS (B) Solution:

TR SIYROME St areriieees] gRT &1 778 8, Fa &

AP THBR =T (MKO): I gfg B! "Fexr I ARe Bt
& & =Y § aRyifid fbar 7% 3ER, A AN, S
31 TFHR § 3R ot ARy &1 7 SgeR fa=ivmiar wad 81
T MKO & & DIRA BT YURA § AGE HR THhd & | MKO &I
Tt fRufoat o U afadd 819 &1 sraxaehdr 81 81 Hi-ft,
MKO Feex ft 81 U B

HUR {3 &1 &7 (ZPD): T8 I o Rigid & ugd
IR 81 MKO &Y 3/a4RUT zPD | bt & et B
IRIMED! b IR, ZPD fodl o1 Fgrrar & fom1 ured fassra




F I TR R B & YUIfId TR & o $1 3R ¢ Bl
MKO ¥ ATTeRH & YTt f3saT ST Wehd B 1 gTaiios, el fa mu
I BT &R T I ATID &HdT & SFIR Iugad i1 gl
SHET / UTS (SMURYT TETI): T TP SRR T 5, St
Th ST P el 3R YT P THT F 5+ Bl B, S Th IARA &
fmfor, TeREmE SR ARwd | S B3 Tl B Gerdl Bl
B IIIEDT A 3 Te& BT YART MKO GRT BT Bl 75
YRS SR PRI IR & 7T ya fbe T8 I ok
RIS qHYA &1 90l =7 & forg e o1l U SR &9 83
FRT BIRTe Wa ferar ST &, Fd=iTeres guef o o feran
ST B, 31 I e S A0 R 63 & 91 U1 Bl ag o
foran S 31

Core concepts are given by Vygotsky

More Knowledgeable Others (MKO): He defined intelligence
as "the capacity to learn from instruction”. According to him,
these are those people, who are more knowledgeable and
have better expertise in a particular domain. These MKO can
help in improving the skill of the children. MKO need not be
a person in all instances. Sometimes, MKO can be computers
also.

Zone of Proximal Development (ZPD): It is the key feature of
Vygotsky's theory. The concept of MKO is closely related to
ZPD. According to Vygotsky, ZPD is the difference between
the present level of development attained without anyone’s
assistance and the potential level of development that can be
attained under the guidance of MKO. However, the level of
provided knowledge should be appropriate according to the
child’'s comprehensive ability.

Scaffolding: Scaffolding is a temporary structure, made up of
wooden planks and metal poles, to support the workmen in
constructing, maintaining, and repairing a building. Vygotsky
used this term to describe social and instructional support
provided by MKO to students to learn new concepts and
skills. Once the skill is learned by the student, the
instructional support is withdrawn, just like scaffolding after
completing the construction.

Ques 125. ANS (C) Solution:

IS A UdTad fod fob gAR afada & o da@ §, srufq,
$GH, 3gH d WRIgH|

3T KT BT T8 U 3RaH T I BT axal g1 T8
MYRYT U, S STazaerdral 3R MM a3
Taifdrd B | 35 HT 35T JHTS! 3R Afad & Afas geai R
faaR foru fomm dapTa SMawadhar &1 IR HRAT 5

3fH : IRATADHAT BI Sid & oY forieR fdia & el &1
3 & =Y B SHT ST § | 318H dRaAfddhdT & Rigid R &
AT 2, 3T T T 33 BT & oI P [ T SUGE IR
3ifires gurfard fRufa 7 firerh 81 safd @1 ue fewa o
Y FAwadr § 3R TS I 35T SGH BI T Saaamarsit
3R 39 g &t aRdfasdr & o Igad ST R

RTEH; U8 §HR Afddd &1 Afde e a1 s % g1 I8
gH P 3T 3ATUE Bl FHfd BRar § 3R FHad gurfard
IER & IO Afde U Y IUgad aeR - & foT 316H
&1 UieT Hral g

Freud proposed that our personality consists of three

elements namely, id, ego, and superego.

Id: This part of personality operates unconsciously. It deals
with basic instincts, biological needs, and aggressive
impulses. The aim of id is to gratify one’s need immediately
without considering the moral values of the society and the
individual.

Ego: The part of the personality responsible for the reality
check is known as the ego. The ego works on the reality
principle, delaying id’s gratification until an appropriate and
more realistic situation is not found. This part of personality
emerges from id and its main objective is to strike a balance
between id's impulsive needs and the reality of this world.
Superego: It is the moral master or moral guru of our
personality. It controls the impulsive urges of the id and
pursues the ego to choose morally appropriate behavior
instead of only realistic behavior.

Ques 126. ANS (A) Solution:

Rre FAIfART Qe e & iR fad & o 31
AT 3T |

THHT AT AR TeTSH BT 38 B & o oS
LRicakiRd

g iR & Rygial ok Al 1 Rifid a3

T8 e &1 fasras sierd SR i & Rygidl &1
J2TERY SR B & Aol T9Y fIH™ & aerar o &
HEG P 5|

g Sid fas, FHTSIRIRd 3N1fe &t 3ot fawy a¥g ured =
Bl

Educational Psychology is the systematic study of the
development of the individual within the educational setting.
It implies scientific methods to study different phenomena.
It establishes principles and laws of learning.

It helps the teacher foster the student's harmonious overall
development by referring to developmental studies and
learning theories.

It also obtains its subject matter from biology, sociology, etc.
Ques 127. ANS (A) Solution:

HRIS A IH fard & Rigid & Gaawi &1 91d &1 g

RIS A 30 HAlaqe 3o Rigid & faeedr avor &
fAfSpaar 3t a1d B1 31

TS A faciadr =R &1 A R & wu H aftfd fFam g
T AR T ST BT DI 791 Y16 fawmRid el ghar 3R
32 30 W My e et e B

faciaa aR &t e1afy 7-10 IV B

Freud spoke of the dormancy period in the theory of sexual
development.

Freud spoke of dormancy in the latency stage of his
psychosexual development theory.

Freud described the latency stage as one of relative stability.
In this stage, no new organization of sexuality develops, and
he did not pay much attention to it.

The period of latency stage is 7-10 years.

Ques 128. ANS (B) Solution:

fawRor 3 Wfaat a1 oy it g3 Inh & §WAY P HRUT
gIell &1

g 3y FAfid SicdRTd WR S1U TUEId SHeRI &1 SUANT g1
HRA B, Al 3T W 8F BT SIAH g Teball & Fiifeh ganarg
T 3N G U J G T g3 |




R IUgad Yohd & SHUTT IT IHR Ahd DI IR &
SR i B Fhell B

Forgetting occurs due to interference with other memories or
other learnt material.

If you do not use your stored information at a regular
interval of time, then you may be at the risk of losing it
because rehearsal or practice was not sufficiently elaborate.
Forgetting can also occur due to the absence of an
appropriate cue or the presence of poor cue.

Thus, it is concluded that when the memory traces in the
individual's brain gets distorted the result is forgetting.

Ques 129. ANS (A) Solution:

el 1 YR Rl 39 Ryl & 3narg Rygid & w0 # it
ST STl ®, T el 7 Y Sroeft &) Taredt g w offts
TR SR T W o J H gfaured faar umi

T W 3T TR / SFeR) &1 I it 9o a¥i @ FTsd &
Hifh I3 A1 gIa 5| Toeelt & F=) Trereht awgell & ey HRTd
€, T 3¢ el BT U1 Bl 51

T W it A / A9 &1 9 g Ufowy & fore gahar & =g
¥ faftrer YTt Fuma ¥ 1 s oot widsy @t wfafaferat @
STHM T § SR U= & JHRSH &1 Qe - & forg
WY H TR FA ¢

Anticipatory theory of play: This theory is also known as
PRACTICE THEORY was propounded by Karl Groos in his two
works ‘The Play of Animals’ and 'The Play of Man'.

Play of animals: Puppies quarrel in a playful way because
dogs have to fight. Kittens run after moving objects, as they
have to catch mice.

Play of man: Children play different roles as a rehearsal for
the future. The child anticipates his future activities and
prepares himself to meet the problems in anticipation.

Ques 130. ANS (C) Solution:

fPRRTTRIT 1 faRIvaTg -

T UHHUIBTA STRT

A G 3R Tg=fda

UG I TR SFHOTH

9 g@ae & Sl WieR T8t

PERCREG]

foeft Hl R A & T d B BT YA BT

HIGTEHD SRR

TH- (G BT 31HTd

Frofa o o) e A gfg

ESRICIRCIn]

AR fRyfa

ThHUTBTAT ST

Characteristics of adolescence -

A transitional stage

Peak intelligence and stamina

Confused about identity

Never accept without interrogation

Love liberty

Try to seek attention by any means

Emotional instability

Lack of self control

Increased decision making

The search for self

Undefined status

Transitional stage

Ques 131. ANS (C) Solution:

gl §fa IRI&0 iR * & fa-a1sH+ e & A o ST Srdr
%, fo ok wrswA g o fa foan e

33T AT & IH &

1904 H, T TRHR A S{Abs fo Bl 7! 39 & forg faviy
Y ¥ HH-3ANd gfes I I DI UM PR & [o1T Th U
fapfid B & fore Fge fova, difes I iy Rrar i o
Tk |

39 350 P WY, 1905 H o A RASR Arsw &1 #ae I ugan
o2 werr RioRia e, R S w0 @ vea -
W&d F FY H T AT B

9 UM B I YR & ST 1 AT aTelt 30 GHwT Qi
f S fvfg, T sk adh | feR ST AT U B A P gfS &
IS Ih g

T3 B HISTS P SRIG! oA H afeyd forar ma o) agaif
P BT WR BT YR B P forg axgsi o1 3 F 11 af &t
3T & 50 M T, $© HFRD U J He T 3R B
JOH! B TR o 71T T | 39 UM B, o WHR &Y 0T
I & o BIs Gei A Iuasy et ot

The first intelligence test which is known as 'The Binet-Simon
Scale' was developed by Binet and Simon.

Let's Understand in Brief:

In 1904, the French Government appointed Alfred Binet to
develop a measure to identify children with notably below-
average intelligence for their age, so that special education
can be given to them.

With this objective, in 1905 Binet with the help of Theodore
Simon developed the first intelligence test, which is popularly
known as the first Binet-Simon scale.

This scale consisted of 30 problems measuring a variety of
functions, such as judgment, comprehension, and reasoning.
Binet believed that these functions are the essential
components of intelligence.

The items were arranged in ascending order of difficulty. The
items were administered to 50 normal children of 3 to 11
years of age, some mentally retarded children, and some
adults in order to determine the difficulty level of the items.
In this scale, no precise method to calculate the total score
was available.

Ques 132. ANS (A) Solution:

S{TERTH BT GXATARUT Teh 3{eMT oAfch=1 il FHET bl §eT bR
T g S & 1T Ue SR 1 -1 A 9 I 4 BT
KGRI

S{TERTH BT FHRIHD RIFIIRUT: SATH DT GHRIEHD
RIMIRUT qd 81d1 § O1d Ub BT ! e F gOR 1 Y
i & ST gl 81 IaTeRul & firu-

rsford Ia T U &1 I WheR aa-T Ara- & Fgrdr
FAT 5
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Transfer of learning is the application of knowledge gained

from completing one task to help solve a different but

related, problem.

Positive transfer of learning: Positive transfer of learning is

when learning on one task does facilitate learning another.

For example-

knowledge of balancing in cycling helps in learning about

scooter driving.

When a pupil masters simple grammatical rules he is enabled

to speak correct English, write competently, and study other

subjects in English as well.

Once a person has learned to shoot a basketball with their

right hand it is not difficult to transfer that learning to the left

hand.

Negative transfer of training: When one learning interferes

with others, it is called negative transfer of training.

Example- Left-hand drive vehicles hindering the learning of

right-hand drive.

Zero transfer of learning:- When previous learning has no

influence on learning or performance in a later situation.

Ques 133. ANS (B) Solution:

A YT a1y T&01 & SHRT & ad el ol [ e

SR o T W a1 fokeR o W11 STl THRUT B CAT AT

CAT-A (TSR] & Q) & FU & ST A1 5

CAT HTS R U & ol & FHedaT1 3R 37 Hifgss Tiafafy,
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Tefd deurell & IHaM & faw e e mar g
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The original CAT featured ten pictures of animals in such

human social contexts as playing games or sleeping in a bed.
Today the version is known as CAT or the CAT-A (for
animals).

The CAT cards with animal pictures are designed to evoke
fantasies relating to problems of feeling and other oral
activity, sibling rivalry, aggression, and experiences of
children.

The CAT is intended to measure personality traits. attitudes,
and psychodynamic processes evident in pre-pubertal
children.

By presenting a series of pictures and asking a child to
describe the situations and make up stories about the people
or animals in the pictures, an examiner can elicit this
information about the child.

Ques 134. ANS (C) Solution:

Thorndike presented the theory on laws of learning on basis
of his belief connectionism. These laws are originally the
outgrowth of experiments in the field of animal psychology.
He presented his theory in his book Animal intelligence in
1911.

The three major laws are:

Law of readiness - It implies that if you are not ready to learn
something, you can not learn it effectively and if you are
ready to learn something, you can learn effectively.
Readiness comes from interest,, need, maturity etc.

Law of exercise - The second important law has two aspects.
It is based on the law of use and disuse. This law promotes
revision and recall. Repeated exercising of a response
strengths it connection to the stimulus and disuse weakens it.
Later he recognized that mere blind repetition is not
sufficient for effective learning, rather knowledge of results is
an essential condition for it.

Law of effect- The meaning of the law of effect is the effect
of learning. The trails or steps leading to satisfaction stamps
in the connection. Satisfying states lead to consolidation and
strengthening of connection whereas dissatisfaction leads to
the weakening or stamping out of the connection. We want
to learn the things which make us feel happy or satisfied.
Ques 135. ANS (D) Solution:

faora & Rigia:-
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Principles of development:-

Principle of Continuity: - Process of development starts in the
mother's womb and continues till the last breath of the
person. Development never stops. Even after the person is
matured, the development process still continues.

Principle of integration: - It denotes a combination of several
smaller units into bigger ones. For example, Child first starts
to learn hand movement then finger movement, and then
learns the movement of both hand and finger together this
process is called integration.

Principle of interaction: - Development of a person depends
on the interaction of heredity and environment.

Principle of interrelation: - Various dimensions of one’s
development are interrelated, including physical, social, and
mental aspects.
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Trait theory of personality:

G.W. Allport, R.B. Cattell, and H.J. Eysenck are the chief
exponents of the trait theory of personality.

A trait is a dimension of personality that can be measured
and must describe the consistent behavior of an individual.
A trait as a dimension is conceived quantitatively as a
continuous scale of measurement from extensive positive
end to the extreme negative end.

According to the trait theory, if we confine ourselves to a few
basic characteristics which are consistent and distinctive of a
human personality the problem of describing it should
become simpler.

Theorists often distinguish between the traits which are
readily observed and those which are deeper and nearer to
the core personality.

One of approach to the trait theory describes the readily
observable traits as a surface traits and the deeper ones as
source traits.
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Refer to the table to be familiar with all the stages of Erik
Erikson's theory.
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Mentally healthy persons possess the following

characteristics:

Ability to adjust: This ability enables them to understand
every new situation to adopt themselves and to adjust well. It
also helps to develop interpersonal relationships and to deal
positively with all.

Capacity of self-evaluation: This ability makes them able to
evaluate themselves from various perspectives.
Self-confidence: This ability makes them able to accept and
trust themselves and makes learners feel very confident in all
areas.

Emotional Maturity: This ability helps them to inform and
communicate moral judgments and decisions.

Critical thinking: This ability makes them able to analyze
information with an objective perspective.

Decision making: This is an ability that helps them to
constructively take decisions by gathering relevant
information.

Acceptance of reality: This is the ability to understand reality
and accept it accordingly.

Problem-solving: This ability enables them to find
constructive solutions to our problems in day-to-day life.
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Problem solving method:

The problem-solving method is the best method for the
development of creativity.

It encourages the student to formulate and test the
hypotheses.

It helps the student to develop critical thinking, open-
mindedness, and a spirit of inquiry and discovery.

It provides the active participation of the students in
teaching-learning activities.

It provides students to gain scientific view and thinking.

It helps to improve the sense of responsibility of the
students.
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Three Dimensional Model of Intellect/Structured Theory of

Intelligence:

SI model of intelligence was given by J P Guilford in 1966.

In J.P. Guilford's Structure of Intellect (SI) theory, intelligence
is viewed as comprising operations, contents, and products.
According to this theory, There are

6 kinds of operations (cognition, memory recording, memory
retention, divergent production, convergent production,
evaluation),

6 kinds of products (units, classes, relations, systems,
transformations, and implications), and

5 kinds of contents ((Figural - visual & auditory), symbolic,
semantic, behavioral).

Each of these dimensions is independent, there are
theoretically 180 different components of intelligence.
Guilford researched and developed a wide variety of
psychometric tests to measure the specific abilities predicted
by SI theory.

These tests provide an operational definition of the many
abilities proposed by the theory. Furthermore, factor analysis
was used to determine which tests appeared to measure the
same or different abilities.
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The mental processes involved in gaining knowledge and
understanding are referred to as cognition.

It deals with the development of thought and knowledge.
The numerous cognitive functions include knowing,
remembering, judging, and solving problems.

All our mental abilities- perceiving, remembering, and
reasoning, are organized into a complex system, the overall
functioning of which is termed cognition.
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Modern psychology is related to the study of behavior.

According to Pillsbury, "Psychology has been most
satisfactorily defined as the science of human behavior."
Wundt is traditionally recognized as the father of modern
psychology.

The behavior of man is influenced or conditioned by many
factors.

But behavior also manifests by itself.

It can be observed and measured.

Study of the behavior of humans through experimentation
and observation.

It describes, explains, and controls behavior and mental
processes.

It is the study of conscious and unconscious behavior which
includes feelings and thoughts.

It is the study of cognitive, affective, and psychomotor
behavior.
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Characteristics of Child emotions:-

Child emotions are brief.

The intensity of emotions.

Child emotions are transitory in nature.

Emotions of children appear frequently.

The quickness of emotions.

A frequent manifestation of emotions.

The emotional response of a child is different.
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Projective methods are the tests that are designed to reveal

those central aspects of personality that lie in the
unconscious mind of an individual.

Unconscious motivations, hidden desires, inner fears, and
complexes are presumed to be elicited by their unstructured
nature that affects the client’s conscious behavior.

The assignment of a relatively unstructured task is a major
distinguishing feature of projective techniques.

Thematic Apperception Test is a projective technique of
personality measurement. This test was developed by Henry
Murray.

The Thematic Apperception Test (TAT) consists of 20 pictures
which are all black and white. The people depicted in the
picture are deliberately drawn in ambiguous situations.

The story narrated by the client is interpreted by the
psychologist, who tries to look for revealing statements and
projection of the client’s hidden emotions onto the
characters in the pictures.

In the original interpretation method of TAT scores, the
examiner first determines who is the “hero”, the character of
either sex with whom the respondent presumably identifies
himself or herself.
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Kinds of Habits-

The general classification of habits consists of two categories

viz. are good habits and bad habits.

Good habits: Good habits are those which have a good
impact on individual and society. In order to acquire good
habits, it is necessary to have the firmness of determination.
Bad habits: Bad habits are harmful to the individual as well as

society. Bad habits are easily formed such as smoking,
drinking, gambling etc

According to another classification, habits can be divided
into three groups-

Bodily habits: These are walking, standing, manner of dress
and other activities involving the use of body parts.

Habits of character: These are character-building habits such
as punctuality, hospitality, cleanliness, honesty, truthfulness,
cooperation, sincerity etc.

Habits of thought: Habits of thought such as those of
thinking, reasoning, keen observation and accurate
judgement.
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Intrinsic motivation:

Intrinsic motivation is the motivation that is animated by
personal enjoyment, interest, or pleasure. It is driven by an
interest or enjoyment in the task itself and exists within the
individual.

It is the internal condition or factor of learning. It directs
behavior that leads to self-actualization in learning.

It is the arousal of a tendency to act and produce results. It is
the drive to achieve something in life that satisfies one's
needs.

For example, A student is working hard for Board
Examination because he enjoys doing hard work.

Extrinsic motivation:

Extrinsic motivation refers to the performance of an activity
in order to attain an outcome and comes from outside of the
individual.

It refers to a behavior that is guided by earning rewards or
avoiding punishment.

Such kind of motivation creates a mindset where the learner
expects to put effort only when there is a reward at the
completion of work.




For example, A student is working hard for Board
Examination because his father has promised to him a
motorcycle if he gets good marks.
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The 1Q ranges of educable mentally retarded (EMR), trainable
mentally retarded (TMR), and custodial mentally retarded
(CMR) are given below:

1Q
Levels of MR Range of  Educators
MR
i Educable
Retarcllladtion 50-70 Mentally
Retarded
Trainable
Rgtc;?gzitoen 3550 Mentally
Retarded
Severe Custodial
: 20-35 Mentally
Retardation .
Custodial
thr::;:;gn Below 20 Mentally
Retarded
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Gagne's Eight Intellectual Levels or Eight Types of Learning:
Signal learning: The learner makes a general response to a
signal.

Stimulus-response learning: The learner makes a precise
response to a signal.

Chaining: The connection of a set of individual stimulus and
responses in a sequence.

Verbal association: The learner makes associations using
verbal connections.

Discrimination Learning: The learner makes different
responses to different stimuli that are somewhat alike.
Concept learning: The learner develops the ability to make a
generalized response based on a class of stimuli.

Rule learning: A rule is a chain of concepts linked to
demonstrated behavior.

Problem-solving: The learner discovers a combination of
previously learned rules and applies them to solve a novel
situation.
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Adolescence is the period of development from pubescence
to adulthood.

It is the period when the child moves from dependency to

autonomy.

It is a period demanding significant adjustment to the
physical and social changes which distinguish childhood
behavior from adult behavior.
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All organisms are born with innate biological tendencies that

help them survive.

This theory suggests that instincts drive all behaviours.
Instincts are goal-directed and innate patterns of behaviour
that are not the result of learning or experience.

Also known as innate motives.

Example - Hunger, Thirst, Sleep.
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Projective techniques of personality assessment emerged

from the psychoanalytic school of thought, which suggested
that people have unconscious thoughts or urges.

Projective test is a type of personality test in which you offer
responses to ambiguous scenes, words, or images.

The goal of such tests is to evaluate the covert behavior and
hidden conflicts or emotions that you project onto the test
with the hope that these issues can then be addressed
through psychotherapy or other appropriate treatments.
Projective tests are intended to uncover feelings, desires, and
conflicts that are hidden from conscious awareness.

These tests are a special kind of test in which ambiguous
stimulus is used and the person whose personality is being
tested has to give his or her own meaning or interpretation.
Thus, it is expected that the personality of the examinee will
be projected in the response given by him or her. They have
the freedom to respond about their personality.

All projective tests give subjects a chance to respond to
stimuli independently which means they are highly
subjective, and the result depends on both the honesty of
the individual and analysis of the psychologists.

Thus, from the above-mentioned points, it is clear that in
projective techniques of personality assessment, covert
behaviour is evaluated.
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Intelligence Quotient commonly known as |Q refers to the
score of a standardized test that assesses and measures
human intelligence.

The first test to measure intelligence was developed by Binet
and Simon in 1905.

Terman in 1916 revised the test and devised the concept of
Intelligence Quotient.
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Raven's Progressive Matrices (RPM) was developed by John
C. Raven in 1936.

It is a non-verbal group intelligence test of inductive

reasoning, designed to measure Spearman’s g factor or
general intelligence.

It consists of 60 multiple-choice items and can be
administered to children from 5 years old to older adults.
The test contains visual geometric designs with a missing
piece and the task of the test taker is to choose the missing
part of the matrix from six to eight given alternatives.

Thus, it is concluded that Raven's standard progressive
matrices is a Group test of intelligence.
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Pre- conventional:

At the pre-conventional level, children learn right and wrong
from the people around them. Their conduct is determined
by external factors like approval and disapproval by authority
figures or reinforcements like rewards and punishment. Thus,
a child’s behavior is oriented towards obedience and
punishment.

Conventional morality:

It is the second level of moral development. It is
characterized by acceptance of societal rules concerning




right and wrong.

It includes society and societal rules in judging the morality
of an action and hence at this level is moral thinking based
on taking the initial perspective of the society.
Post-conventional morality:

In the post-conventional level of moral development, the
sense of right and wrong is decided by one’s own conscience
and nothing can be imposed from outside.

One may keep certain universals like value for life at the
highest order of values and may also break a law for the
same.

Thus, it is concluded that reinforcements like punishments
define moral code in Pre-conventional level of Kohlberg's
Moral Development Theory.
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Factual learning is one of the most common types of
learning that students are expected to learn.

Factual knowledge may be described as the basic
information about a particular subject or discipline that a
student must be acquainted with.

Acquiring factual knowledge is important to students
because it serves as a basic building block to understand the
larger relationships among important information that define
a subject.

Factual knowledge is technically referred to as semantic
knowledge or generic knowledge. For example, learning the
names of the states and the names of the corresponding
capital cities.

Ques 156. ANS (C) Solution:

HieTg Hfekicd PRSP UHTTS! (16-PF FHTT):

Y hod gRT [awyd far a1 ]| U8 =ufdaa faaron & te
S YU B! Ugd Bl ¢ Sl §-are] cafded TR B
UgdH I & oIl HRS fARAvor & o1efi= B

FCA P Alddd PRPI B TG ARG HRP THTGeH (16PF)
 mferet foam T & S ot e # Sifaest R & for
HUH &Y H IUANT a1 Sl 3|

i fqeed g U BT IR <dl 8| BRI Anfer 3R
WA & T HRd # I faared SR & oFl & 91y 39 gl
T SYINT e el B

S Fed A Fufifed 16 Fafdda smar! &1 quiF .
ST HTe e T ATIIRD

3{eiepT: feiferd s 3

UYd: YIS S fa19

AT FRRT: Tid §1H 3fid T

STSTfdpT; TH a1 Fes

gRadH & fore QaTo: aeia s uRfd & 1 gan
quiarare: FEfd W SR A

fRIMIIPR: fadesia a9 gaa

qab: St & G

- =TT ST TR- ST
TAMHRAT: SR T AR
BECSRINGIRIG Rt R ATkl

1T HTg: o S Hopret

q1a: It S R

THSIRM: FadaE a9 sRféd

Sixteen Personality Factors Questionnaire (16-PF

Questionnaire):

It is developed by Cattell. It identifies a large set of
personality descriptions which is subjected to factor analysis
to identify basic personality structure.

Cattell's personality factors are included in the Sixteen
Personality Factor Questionnaire (16PF) that is widely used
today for career counseling in education.

The subject responds to the situation by choosing
alternatives. This test is being used with high school level
students in India for career guidance and counseling.
Raymond Cattell described the following 16 personality
dimensions:

Abstractedness: Imaginative versus practical

Apprehension: Worried versus confident

Dominance: Forceful versus submissive

Emotional stability: Calm versus high-strung

Liveliness: Spontaneous versus restrained

Openness to change: Flexible versus attached to the familiar
Perfectionism: Controlled versus undisciplined

Privateness: Discreet versus open

Reasoning: Abstract versus concrete

Rule-consciousness: Conforming versus non-conforming
Self-reliance: Self-sufficient versus dependent

Sensitivity: Tender-hearted versus tough-minded

Social boldness: Uninhibited versus shy

Tension: Inpatient versus relaxed

Vigilance: Suspicious versus trusting

Warmth: Outgoing versus reserved

Ques 157. ANS (D) Solution:

fHRIRT & ST Tia B & fIpd Bicll &, Yaell & Gelf & SR
o e BT ARIBT Udl Iedl 6, THBRT Bl AT B P ¢
Rt B} T eIl § 3R T JordHS 3R fFaeTeqs U d
e ed §

PR Td I 3 faaRy, sraurumsi iR s Rigidl & ga
B & oY 3 5gd &1 9 3 SrayrRumaf 3R yrRoman
IR BT A § 3R I8 THH & Ted 81 § b wreufiss
3 ardfae 1 71

fFRIR P B IR 37 BT TR Fd & 3R 30 SR S J
g §1 3 a5t uftra 81 werd § el wen § 9 1
2R &) TS & TR He@yul UHTd STd T g |
T SR GoHTETH Gd B & fPRIRT B FaR B 3R
Hied uRFRUfTl § R EH # 7ae I g1 d THHRI B
JHEd § 3R Ywadi 3R fawadr & TRl J ToRA arat
TS BT §A B P [T I TS W B P 51




35 isdar a1 Wi fFRIRT 1 UgaH §1 3¢ I8 f9aR 81 bl
2 6 X IS 9 TW e © o o 4 Ha R A 3R o oy
HAER I TR BT A ATH T B §

GoHTHS FU Y Fiad DT &l Th 3R fHRIRT BT Far@R
B, BT uRRUFT A G B # wag Bl 8, 3R gad of,
e SR Huifad SifEm R TanT o b Segarei o Srsfd,
SRRFET T Teey, TRTS 3R S T TS F HROT TR
P AR B B

SHferg, Ig shy Masten T § i Femall ¥ T B T
PR &1 TTHTHAS &l TR Hgaqul THTd ST Thell g

The adolescents develop a capacity for abstract thinking,
discover how to think about relationship issues, discern new
ways of processing information and learn to think creatively
and critically.

The adolescents move from concrete thinking to dealing with
ideas, concepts, and abstract theories. They become
passionately interested in abstract concepts and notions and
are able to discern what is real from what is ideal.
Adolescents try to answers and give their reasons properly in
the classroom. They might get confused sometimes so the
reasoning in the classroom can have a significant impact on
the cognitive competence of an adolescent.

The ability of reasoning and creative thinking helps
adolescents to make innovations and getting away from
difficult situations. They understand information and act on
that understanding to solve problems passing through
phases of success and failure.

Egocentricity or self-interest is the hallmark of adolescents.
They may have the idea that everyone is watching them as
though they were on stage and tend to draw others’
attention by their particular behavior.

The ability to think creatively on one hand helps adolescents
to make innovations, getting away from difficult situations,
and, on the other hand, invites troubles due to innovative
and potentially risky experiments like rash driving, unsafe sex,
taking alcohol and drugs, etc.

Hence, it is concluded that reasoning in classrooms can have
a significant impact on the cognitive competence of an
adolescent.

Ques 158. ANS (D) Solution:

< PR (Siex Trsfth) a5 ufshan § o A1 9 9=
3O o1 & SR 7 ¥iEd & STR S AR b A&l SR el 1
TATHR Fh STIR TIER B ¢ forg 9 30 o1 &% =
EEGIECES

IaTERUI & fTG, Sfd Ueb TS b1 &1ST Bl &, ol I8 Ga b1 4oy
forT & U & UgaaT § IR Feds J3Y S &1 YA &l
§1 9% Uo U faft) ¢ Foress w1end § U o1 oA A
I 3 W Hl ¢ SR I e PRl 3|

i TR (SieR et & mregw § 9= foiT YTl & aR
A WRed € S GG AFCS! &1 U IHE € S 9 oIdeR] &
USRI @1 FeiRd Bl 8, 57 off IR W il o forg 3
IRATID IT HIAd T o1 ST & YR R WipH, Iugad
1 qig-Ng T T

3fct:, &1 g ey FaTad & i o 31 90 & o1 TR
(SIS TTRIU) FHTSNHR Ufshdn # o= 1 30 | g1 3fad
e YfHeTd WRad g

Gender typing is the process through which children learn
about their gender and behave accordingly by adopting the
traits and values of people they identify as belonging to their
Sex.

For example when a boy grows up, he identifies himself as
the male gender and strives to be the stereotypical man. It is
a method through which a child discovers and expresses his
or her sexual orientation.

Through gender-typing children learn about gender roles
which is a set of societal norms dictating the types of
behaviors that are generally considered acceptable,
appropriate, or desirable for people based on their actual or
perceived sex or sexuality.

Hence, we conclude that children learn appropriate gender
roles at an early age in the gender typing process.

Ques 159. ANS (B) Solution:

3id-dafdad gf MeR gRT URdTad 3116 g & 9 T 5
SfRTITfaTE gfg T dread gERI B GHSH BT & 3R
T Sfafaarehi A B 1 3 gERI & UG, TSt Hrarsit
IR IV ) T T § IR R o ke @ el
DA g1 d G P Y 3 URWRS Yay R R Gl
¥ 3% U ST SR THTIRIIC TR HIR 31

Y UHR P AN TG 20 J IfGHH 8d B

3 YU 77 T R ¢ 3R GO & 1Y S & Fergyfa
G §, 3R I a1 A1 Trf 8 U g1 9 3 IR W Gl &
Y BT HRb T 3BT TRAd § 3R AR Il 3R 959 B
3T o &

3 gf aTel I o foTT Iugert uaral H fdshd, T,
Taiu, e SR AT HRiddl QMM &

I UBR, T s faTa o § i siadafaas i ara
TN 1 AT JGHT' el STl 5

Inter-personal intelligence is one of the eight intelligence
proposed by Gardner.

Interpersonal Intelligence refers to the ability to understand
others and social interactions. They can understand the
temperaments, intentions, emotions, and perspectives of
others and relate well to others. They can establish good
interpersonal relationships with others. They have good and
effective communication skills.

These types of people are socially smart.

They communicate effectively and empathize easily with
others, and may be either leaders or followers. They typically
learn best by working with others and often enjoy discussion
and debate.

Careers that suit those with this intelligence include sales,
politicians, managers, teachers, and social workers.

Thus, it is concluded that People having Interpersonal
intelligence are called 'Social smart'.

Ques 160. ANS (D) Solution:

HIGUTST H TTfires FRI&T UGH & & aTH:

37 UTSTSHT Y FAAT 3R RGHT ST T 3|

el & TR B ARG T § AR Tl &b 3HTH-

I P ST gl

P! SHTAEIES T SR FIERAT IR [THd B H Hag
HAT 3| TT M TR faw o ITIRT Y S areht HiwT T faar
XA T AGE PR 3|




& &I AfGITd, WA IR ARG ias TgaH fAsRid s
o HEE AT ¢ | T U Ugd HIGHTST § & Ugardl & |
Y UHR, 89 U8 Fepy fdra Iovd € b Arg v § o
2181 <71 9 = o YTV f9bT™I 1 Fgrar ¢+ H Hag fAd bl
gl

Advantages of providing primary education in mother
tongue:

Makes it easier to pick up and learn other languages.

Makes the classroom environment comfortable and boosts
the self-esteem of the children.

Helps in developing their critical thinking and literacy skills. It
further helps in extending the language to use in every
subject.

Helps in developing the child’s personal, social and cultural
identity. The child recognizes their identity from the mother
language.

Thus, we can conclude that giving primary education in the
mother language can help foster the language development
of the child.

Ques 161. ANS (D) Solution:

ETATH (TLM) BT SYART RTH PI TR I & g foban
ST B | 31T def-dhe R 2q fafta se-2<a vers
SRS BT JUIRT BT 1 5T 31 $7b IuANT § & Bt
fRreror 7 wgraar firerh 31 Ty g faremef oft fawa &1 9 et
T IR UM T 3R IGHT et 1 ot wiredt e 31 Rreror
TES G (S P il Fafiiad Sudur amd &
& anfe |

TLM is used to simplify learning. Today various audio-visual
aids are being used for classroom teaching. Their use helps
the teacher in teaching. Besides this, students are also able to
learn the subject effectively and the knowledge gained
remains permanent. Teaching Aids (Teaching Aids) include
the following equipment — blackboard, blackboard, flannel
board, clip board, interactive board, over head projector,
digital camera, multimedia projector, computer, radio etc.
Ques 162. ANS (B) Solution:

TR 31 UfshdT I IgaR S H qP-Ih! BT SUART B B,
Rrgror & s A, (1CT) HEd &1 31T S, 1 Y21 v TR
Tb-Tich! 1 TETI Y Uh SfedTueh fRifon SifeTe ufchar bl
TUIE ST Tadl 8 | LT U4 WU b1t ST dhisd I
UfchaTaft T Tt FHETeT Y, TRirer fafd 3 o vgad
3 B TgHS UGH Fdl ¢ | T9F i IR & Tr-ard
Y BT UfEresT & +f g5 3 @I

To use technology to improve the learning process, ICT in
teaching. (ICT) is called. ICT. Or with the help of information
and communication technology, a teacher can make the

teaching-learning process effective. Information and
communication technology helps in using student centric
learning processes and problem solving method, application
method etc. Along with its rapid expansion, the role of the
teacher is also changing.

Ques 163. ANS (A) Solution:

Operating systemUd System software % S {3 user & 3R
computer hardware ¥ &9 H interface &1 BT HRl g

JaIERUI- AT3Ia, fdSIeT 10, ios, Android 311 | ATSHIAIGT
3ith g & 3ifafad Tt Hrgex smfen Ren 31
Operating system is a system software, which acts as an
interface between the user and the computer hardware.
Example — Linux, Windows 10, ios, Android etc. All computer
operating systems except Microsoft Office.

Ques 164. ANS (C) Solution:

Iad aTdTaRyl arelt weft H e T Iaa Sifgd A1 &
w0 T Rt 1 Aqa ver wxar g1 39! Rianial w
FHOR A0 T8 I & IR 98 SD! oRewdl I THTSH! B
YAZDBR b1 AT Hd §U Rieor o grrfed seadr g1

In a classroom with an open environment, the teacher

provides leadership to the learners as a universally
recognized intellectual leader. He does not have strict control
over the learners, rather he completes the teaching work by
understanding their needs and problems and guiding them.
Ques 165. ANS (D) Solution:

T S B Iudad B 9 faredt oft Wk R e g e e
ST g 1 THTS S84 P 3fdifd 3 I 3M1d § ForepT Ty i,
RPN, Fed, Hawl, FAIgh, Efedl onfe ¥ gl | $9fe 39
S # W I IR 9 To1 [T Sl 3|

In the affective domain abstract knowledge is not created at
any of the above levels. Affective domain includes those
objectives which are related to feelings, attitudes, values,
emotions, attitudes, interests etc. Hence abstract knowledge
is not emphasized in this domain.

Ques 166. ANS (C) Solution:

TS O & 5 RO 8- (1) TR (Preparation) (2) SSHEA
(llumination) (3) SGIYH AT AT (Insight) (4) TediaT
(Evaluation) (5) Tﬂ'@ﬁl (Revision)

Following are the stages of creative thinking — (1) Preparation
(2) Nlumination (3) Insight (4) Evaluation (5) Revision

Ques 167. ANS (A) Solution:

317 faenfil &t Aeg o1, St oik g Tfafafrt & wean
AT, A AT B, TagTa1 Fad AT, Gy vefid
Safes g1 & IR H Il G Uh UDHR 1 AR Td
T & S S wrere ot ol § & o 31

Helping other students, collaborating in pair and group

activities, sharing materials, expressing goodwill, showing
empathy, altruism, talking, etc. are social skills while showing
curiosity about the world is a type of personal curiosity.
Which does not come under the category of social skills.
Ques 168. ANS (C) Solution:




Ans. (¢) : TEYHEI HTA Sad TG H TH THHE
741 a9 a1 919 Fiee i 2

g & oAl W dWeh Sflad R FHR gHieal @
TEYU 2 | G FA4 § 999 a4 8

ST SRITTE F =10 T4 TTIieT #-
WA
HE ARESAT TS d
FVET 2R qIEr | e 9
T EEall

Ques 169. ANS (D) Solution:

FHigae & 1Y USTIHH TSI H1 SaURUN gd Heeaqol
oft s 3 I AU =ROT 3IehH 1 30 Pl Re By
e fasan| Sigaet A Afdw fawm o1 Righa ufqmfed faar
31 3T A e Rigid o1 i =Ro & o far &
3R I% Ui AT 3| UMD &1 i ¢ i 31 o
TI1 §1 98 37 RN F bR A< ToRdl § | HIgaar &
TR A A &t 3 TR v FAfdd w0 o o 81 59
% B! I el off Ibdl g

The concept of hierarchical integration was very important

for Kohlberg because it enabled him to explain the direction
of his stage sequence. Kohlberg has propounded the theory
of moral development. He has divided the moral
development theory into three stages and considered them
universal. Universal means that any child definitely passes
through these stages. According to Kohlberg, these stages of
moral development come in a certain order. Its order cannot
be changed.

Ques 170. ANS (B) Solution:

IS ok fawm & yuIfdd A aret siiale HR& AW 8- ()
UIATES HRS (i) G (iii) MRS FRS (iv) AAH FRS
3R YIS BRS (v) AXIND FRP 3l

The internal factors affecting growth and development are as
follows — (i) Emotional factors (ii) Intelligence (iii) Genetic
factors (iv) Biological factors and constitutional factors (v)
Physical factors etc.

Ques 171. ANS (C) Solution:

T 3HIhTHS pidht Td fagis! Ughi arel & 9 fueq & forg u
fR1&1 D1 B & HIGR B TR T DT HRYD YA BT
MRV $Hb fory I e Tafafeal & 4 o & forg URd
HRAT A1

To deal with an aggressive, angry and rebellious student, a

teacher should try his best to make the student's behavior
flexible. For this he should be motivated to participate in
group activities.

Ques 172. ANS (D) Solution:

IUdad UY & TR U SR SIS DI fpat off YR o
UGH R P MR T S Afee, s Rieres & forg wft
faenf eyl 84 € SR T & 5% 7 oo Ay Qg g &

o9 W= afe vy e foar o @ 3 oA fawra & fae ofa
Gal

According to the above question, a skilled teacher should not
have any objection to teaching in any section, because all the
students are important for the teacher and all of them have
some special ability which if given proper attention, they can
help in their development. Will be inspired to.

Ques 173. ANS (D) Solution:

fa=iy U § Hie o1 Bie-1gdl, ARG W & gg), fafky
famaimar @ IR a1 foerares) @ difsd ol ot Rrer ot
TSI SR 3T BT qUH B & fore Iraean favy e
Mg BT IYANT b S 5| fa=iy Rien wrieH vy
IR Tl Sl b o & | ST Iap! ARy e v
fRiefe TS B THEISH gq URIRd BRd B

The term special education is commonly used to describe the
method and practice of educating students with specific
learning difficulties, mental health issues, or specific
disabilities (physical or developmental). Special education
programs are for children with special needs. In this, teachers
with special education train them for adjustment in the
society.

Ques 174. ANS (A) Solution:

Hesgg! &1 guf ¥ g- 1R fag feuufaferdsr | pwD Act &1
o=t 7 At o srivvaa sififram & 9 | ST ST |
SR 3ot A Person with disability Act F8T ST 81 PWD Act
1995 : Person with disability act 1995 &1 &1 fad T cafaaal
BT TR T THYH FHRA adT 3= g0f IR fGam & forg
7| * I8 AT 7 BRast, 1996 F ] fobam 711 * PWD Act
1995 & T8 fIHaRT STl b 7T THI ¥R a1 1Y & Fafo
H 3! gut WRieR) &1 a1d Pgt it 71 * T8 Tae fadar
Safekdl Bt fRiaM, ASHIR, SHar URIEUT, SRE, STHUTH TUT
3§ 3P YRR ST ahTad Bl g1 * PWD TIE 1995 &
R TR 2016 § PWD act 2016 TR T 3|

The full form of PWD is ‘Persons with Disabilities’. PWD Act is
known as Disability of Persons with Disabilities Act in Hindi.
Which is called Person with Disability Act in English. PWD Act
1995: The work of Person with disability Act 1995 was to
solve the problem of disabled persons and to provide them
full rights. * This Act came into force from February 7, 1996. *
Under the PWD Act 1995, there is talk of equal opportunities
for disabled people and their full participation in nation
building. * This Act advocates for the participation of persons
with disabilities in education, employment, vocational
training, reservation, research and their participation in the
country. * PWD Act 2016 has been introduced in 2016 in
place of PWD Act 1995.

Ques 175. ANS (C) Solution:

TS i &1 AdAd g o U faanf § fafdy yer
DI Tfafafrdt & HIerH & SHGRI Tha BT Sl b Hika-
3R YTl BT 3MTebet] R H Hae dal 8| 39 g mfafafat

M BT S & 0 THT B Tafafer Hd aw faenfal
Bt TR ST 3R D! &S HRAT| 0 BT 3R GHR &
el B IS HRAT 3R 75 Rap1s 3@l u faeniia) & &
(e, o, aREeHI 3nfe) & T TEwIferat & Wi




Y TR TR AT 3R 3T RevTs @11 3. Tl
TS Ao eTerds Hedic Bt faRivan § 7 & Tarers
Tih B

Formative assessment means collecting information from

each student through a variety of activities that help assess
their learning and progress. It includes the following
activities: — = Observing and recording students while
carrying out normal classroom activities. = Grading and
keeping records of class and homework assignments. =
Keeping samples of students' work (written, art, projects, etc.)
in a portfolio. = Taking short informal examinations and
keeping records of them. Therefore, sessional examinations
are the specialty of summative assessment and not of
formative assessment.

Ques 176. ANS (C) Solution:
GoHTHS IR & o gat Usil o} Srazgesdl gt 81 gal Uy
I USR & Uil 1 BeT Sl & foreb1 g i IR 781 gheln
T T SN Sl B HeUATHD i B & o URd Rl 51 39
THR & Ul & Femireres vy i 52 o §1 FRemmeres ust
BT & TS, TR0, dlfdadh feiaH, fofaq, gor enfe
&SN BT T oIl g

Open questions require creative answers. Open questions are
those types of questions which do not have any definite
answer and which inspire children to think imaginatively.
Essay questions are included in this type of questions. Essay
questions evaluate students' abilities like organization,
presentation, logical thinking, decision making, creation etc.
Ques 177. ANS (B) Solution:

e fa=erwor 3 e =R & 3 da (Sem) &
URUTHT Bt U o oY Sild B o o1y SUDHRUN b1 R0l
N 31 AE0TP [IeiwoT 1 274 g fafirer ugqgshi & e
B! IUTGHAT B Sird HA1| T8 R o1 Uiohar § oA arat
YHRID UG THRIAD foigsif &) uga $a § Heg ol g
Aférores fazeror = wroil & gft gt 81 (1) gd wiforar =vor -
9 TR g fafafral =i §-3a=T &Rl &1 Ul I,
SITH 3 TR o1 9ur, Tl SR SR Ty &1
foeion, SifTH & UBHR Bt UgaH AT (2) HFT =R0T -
3 @Ru1 B Fgfafad nfafafat e @ - S wdgfa &
WRich/FDI0 77 B, 3fer Riamkidr 1 ufesear R ot
A, Ufdifehan ST (3) Tl aR0T - 39 °R01 H Sfed Sifvm
& URUTH B Juais & g Iuebull Bl e B 2nfie
gl

The instructional phase of educational analysis involves

determination of tools to test for achievement of desired
learning outcomes. The objective of educational analysis is to
examine the productivity of teaching in various aspects. It
helps in identifying the positive and negative points in the
learning process. Educational analysis is completed in three
stages. (1) Pre-operational stage — This stage includes the
following activities — ascertaining the learning potential,
describing the learning outcomes, analyzing the content and
subordinate concepts, identifying the type of learning. (2)
Participative stage — This stage includes the following
activities — deciding the method/approach of stimulus
presentation, deciding on the expected learners' response,
giving feedback. (3) Evaluation phase — This phase involves

determining the tools for achievement of the desired
learning outcomes.

Ques 178. ANS (A) Solution:

Tt Rep1S BTS B! AR b Yeuichd b IR DI

TR a1 AfGqRe e & s arffepd fpar o g 1
et sifirehg TS Wpdl H Raeb! gR1 BET & IR H ST T
P P 35T U TR $1 T8 TP GedaH ddb-1ab o | Rt
& IR H Ferlt sifircr Riere!, IRmRiGTarstt $iR SfiHIaes! &1
IO YT UeH R g

Cumulative record cards can be classified as non-

standardized tests or subjective methods of personality
assessment. Cumulative Record Card is a valuable technique
devised by teachers in school for the purpose of collecting
data about students. Cumulative records about learners
provide useful information to teachers, counselors and
parents.

Ques 179. ANS (B) Solution:

B & o # 2 Biead &I dATHT I WHR §RI TH
YU el @gR & 0 § AT < 778 g

In recent years this festival has been recognized as an
important tribal festival by the Telangana state government.
Ques 180. ANS (A) Solution:

T Ugd GG B SR A IRV [T SR I BI
e T AT | SR & SIuR JAfdd & I Ig=
g & 7 7 (AR B 1 70 T SR 3| I A TeR &
TYERN & IR T § Rl S0 A1 [IH™ &1 aRe
wu fAfgd 7, it faa @t slifes, i qut snenfars
AT Bt Gfel BT &1 SRI P TR I &1 YHR
Tafed Y& Bidl 8- (1) ST WIS [T &1 RIHTST B
(2) 79 g H € 3ot wafe e gufar &1 ergHa Hrar g
Avristotle first defined community. Aristotle considers the
state as the supreme community. According to Aristotle, all
the objectives of an individual lie in the aims of the state. The
state is at the top. The state is the community above different
types of communities because it contains the highest form of
social development, which fulfills the intellectual, moral and
spiritual needs of the individual. According to Aristotle, the
state is the supreme community in two ways - (1) The state is
the pinnacle of social development. (2) Man experiences his
highest moral perfection only in the state.

Ques 181. ANS (B) Solution:

TECd AT TR & TER- ot off o131 & fawrg & forg
3R IS AfdT@ P I e W fasid H & fog Anfew,
il SR el il SRl B1d €1 S7epT |11 o fob Rieft a1
T 32 ST o1 SHGII WMokl 1 [ BR 3B
feTcd 1 agHE T affior o Fer g AR
According to Gurudev Rabindranath Tagore — "Literature,
music and art are all three necessary for the development of
any student and for the complete development of his
personality.” He believed that the main objective of
education was to develop the innate powers of the child.
There should be all-round and all-round development of his
personality by developing his personality.

Ques 182. ANS (B) Solution:




Sfae PR & AR 0 & TR T 9gd A1 I U H
et 7 § 13 foreht <t & 7ifdra o1 SuahT e UaR @ foran
M

According to David Wheeler, “The most useful thing about
having a lot of knowledge about mathematics is knowing
how to use it in something.”

Ques 183. ANS (B) Solution:

A UTSIshH, UGTYRA® TRTTHS I TR SeTRd g
greT A ST SeRYd Rigid & 9 H IaTe®
GIED o] B f[aHT T Hewayul Se=d 51 TP 3JUR
STeieh b1 ferdl T fAfRIyaraii o1 Wis B 3 3R
IS HIGAIS BT fasrd fasan S gehar 3

The current curriculum, textbook is based on structural
thinking. Development of constructive and creative powers is
an important objective as the basic principle of curriculum
development. According to this, by exploring the interests
and specialties of the child, creative feelings can be
developed in him.

Ques 184. ANS (D) Solution:

TRrgror ST W, Ria gERaH qul i e fes?
UTaIHH U F1 AT a6 8| faemadt TR R ureagwasd!
&1 fAufor ureusd & SR W & BT |

Teaching-learning materials, teaching strategies and
evaluation all together form the curriculum concept. At the
school level, textbooks are prepared on the basis of the
syllabus.

Ques 185. ANS (A) Solution:

1921-1947 B 3faf & ERM, Aferes T H asfeHal &
aigal § UK i g3 R, ST e HRUT IS T
7| G 1921-1947 & &9 Tl fafet iz siiaia o
afgarsii Bt HFeRT TTaR a1 ST UHTT féie TR o
dsfordl & arfad WR ot geTl

During the period 1921-1947, there was a massive increase
in the enrollment of girls in educational institutions, largely
due to political enlightenment. Women's participation in the
various freedom movements that took place between 1921-
1947 increased continuously, which also affected the
enrollment of girls in educational institutions.

Ques 186. ANS (C) Solution:

YRd T el e &1 A IR R IR 9RO & aiffed fosar s
Tl 8- (1) gd urufiies e (2) uruftres e (3) gd wreafires
TRr&T (4) FTemfires R

School education in India can be broadly classified into four
stages — (1) Pre-primary education (2) Primary education (3)
Pre-secondary education (4) Secondary education

Ques 187. ANS (A) Solution:

T WIS TR TR YIS SR 31fee Te 1Y TfaRuy,
e T R  TE) & U el R 53 & weras
& Wb ¢

At the upper primary level, geography and economics
together can be helpful in developing attitudes towards
environment, resources and development issues.

Ques 188. ANS (A) Solution:

Iudad vy B 3fasr & T & FHeue1 &1 ggrar fear s @ 8|
T S & Yo H FHeuT e I {6 R T g1 e &t
BIcECEERUl

In the above question, imagination is being encouraged in
the context of history. Children will imagine in the context of
history what they will do if they are unable to pay taxes.
Ques 189. ANS (C) Solution:

YRA T adH Qe T B JHe Jo Tt AT e 7
AT 3 | i e & Udd R WR Ugd &I 9 3R
Yrfiert &1 =P ¥ YRa J Aoyl wifd &1 § bR off S A
e & oo ) Twgof fRufey forehl-Seht <€t &1 o o fRye
T® Ugd 3R YRTGRY, U™ &1 S areit Rl &1 Jora, R
T AT, AR HRIGRIC, TR U4 Faed 3ffe adum
fRren &Y gfaar 1

The biggest challenge facing the current educational system
in India is equality in education. Although India has made
significant progress in terms of increasing access and
participation at every level of education, the overall situation
of development of education in the country has been mixed.
At present, the challenges of education are access and
participation in education, quality of education provided,
equity in education, systemic efficiency, administration and
management etc.

Ques 190. ANS (A) Solution:

fUeR el &1 WA Y ¢ S Ureug&ie o Sifdd &1 a1 8|
TTHE B Aifee T Y dTg SR, a1 DI 9 fasRid
B &1 RIueR, fawa 1 goita FREur wegd svar & o fRrameif
A 3 I BNl & quT T 31 IgHargded T 3iffd Bra
gl

Theater is an art form that makes the textbook come alive. In
theatre, verbal communication skills and speech skills all
develop. Theater presents a lively portrayal of the subject,
which arouses interest in the learners and makes them
acquire knowledge more eagerly.

Ques 191. ANS (C) Solution:

faeTer SR &1 g aed Rigr & g fgdax ardmaro
YA BT |

The main goal of school discipline is to provide an
environment conducive to learning.

Ques 192. ANS (B) Solution:

Th 3731 HEATAUD UIUfHh U H T 3] YRR gl
AR | FRETET § Yed Wi bl S 4 Teb SHTawae 70T 3
Tt fowg o foaR—fomsl, sr=ma= 991 ¥ ofe & $ora
IR TRt g UG BT BIl 8 | WY 8§ AT BT
B 31U Rerep, faenfiy anfe & wreere Rifdd o i g
gl

A good headmaster must primarily be a good administrator.
Leadership power in the head teacher is also an essential
quality because he has to provide efficient and effective
leadership to his students in every field, co-curricular process,
discussion in any subject, maintaining discipline etc. Besides,
the job of the headmaster is also to establish harmony
among his teachers, students etc.

Ques 193. ANS (B) Solution:

TR (), Iquie faerem, ared faaer aut gwmr fage fagyuor
1 U0 § STafds A1, AT auT 9gad bi=d Udhd &
A1




Range, quartile deviation, mean deviation and standard
deviation are measures of dispersion while mean, median
and mode are measures of central tendency.

Ques 194. ANS (A) Solution:

g foret RféreT 3 wen B 30 srgwa e o g1 favg wR
qe-f3a1E BT SIS b YD T Bl Jod fav7 TR U
IR S A & g Mg d Xl &, T 39P1 Hadd § b
TRIférepT STt Faf BT Sife srfiegaasiia iR faareha a1
R

If a teacher organizes a debate in the class on the topic “Zero
is the most significant number” and encourages every child
to express his/her views on the said topic, it means that the
teacher is making her class more engaged. Making you
expressive and thoughtful.

Ques 195. ANS (B) Solution:

T &1 Rygia, o & srefguf, 31 wifty o1 Rigia =&t | aaifes
Rreror % 1 IUNTH § TaTEw ], Y4 UG, W9 gR1IH
fmion, enfe R 9 faan S & 7 fos 3o W1 e 3t ufsan
GR1 Aefeb SHTH T8 81 UTdl & SR 7 aTeieb b HIRID Afckral
1 Ui faT g U |

The principle of rote learning, meaningful in mathematics, is
not a principle of knowledge acquisition because in the new
approach of teaching, emphasis is laid on creativity, prior
experience, creation of knowledge by oneself, etc. and not on
rote learning. Meaningful learning does not take place
through the process of rote learning nor is the child's mental
powers fully developed.

Ques 196. ANS (A) Solution:

e Bl 8 SR siafad! 1 sraaie g Sl g, & S 8
TP T BT FIBRUT R P FIGRI URIAH fears ol
SR TR TR B TOM B SGURON, ST a2, Ry,
fafera, ufsranstl, wehH! onfd TR 31 U Rl 51 39 TR R
faenffat & T seTd sgaeReTd uRadH fawrs a6l

If students understand geometric shapes, then behavioral
changes in classifying shapes will be seen in students. At the
comprehension level, the student understands the concept of
mathematics, its facts, principles, methods, procedures,
processes etc. At this stage, understanding based behavioral
changes are visible in the students.

Ques 197. ANS (D) Solution:

help to CiRSHUN helped to T TANT 8T &ifd have/has/had
& TYTd verb B third form WW’TWW%I 3a: fapey
(d) WL B

Helped to will be used instead of help to because the third
form of the verb is used after have/has/had. Hence option (d)
is correct.

Ques 198. ANS (B) Solution:

TGRS HHICT Th Tl YRS § ForaH &% TR & uRiei
& gRI it Afdd & aeR 3 Sifd BT A B $9B Sfia
TR, AIfg I, ot /arest 3nfe e i 81 oafdh wWR
(Level) TART® U & f=Iiid -Tal 311l &

Psychological test is a series in which a person's behavior is

examined through several types of tests. This includes tests
of inspiration, literary devices, pictures/blueprints etc.
Whereas level does not come under the psychological
aspect.

Ques 199. ANS (A) Solution:

TH He&f1 H ol BT e T ffte wfafafet o sl iR
STcild PR, fell TR BT AT Biddl Bi =1, fFll R o
3M1fe) IR WA (©IY ATCH BT T, SHTER) & GRT o I7H
IR Siia & SgHaT A Geifdd g1, ¢ Tobdl 31

We teach art in the classroom through various activities (like
talking on pictures, composing a story or poem on pictures,
writing on pictures etc.) and games (like staging a drama,
Antyakshari) which are related to their real life experiences. ,
can give.

Ques 200. ANS (C) Solution:

Tt HAT 3Bt Had § | HERI Hell ol & 181 51 T8
BT A | AT 3T HaT137 bl byl & H1egH | & o
AT § B DI G-I &Y Y & YN H sl T g1 1. T FHall
e sraid e an, Gfded, aRgean s omd g1 2.
TeRI Hal o Sfid H1ed Hall  Wid Hell $f1fe 3 5
All art is good art. There is no such thing as intermediary art.
This statement is true. Man expresses his emotions only
through art. Art is mainly divided into two parts. 1. Visual arts
which includes painting, sculpture, architecture etc. 2.
Exhibition art which includes poetic art, musical art etc.




